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1.  CTeERE™ 3¢ 9 98T 81 qegTe guret il wdt e 2

(1) 115 SwAss quige (2) 122 Terel quigE

(3) 128 et JuTgE (4) 185 TwAE Fuigat

When was the Deccan Trap formed due to eruptions and flows by Lava ?

(1) 115 million years ago (2)  122 million years ago
(3) 128 million years ago (4) 135 million years ago
2. 71 feaw anfur B A9 SITfes SveREEa T 9 9 TR "o et wmal,

#1139, 1974
T, 109, 1970
% 139, 1975

. 159, 1971

ot 3w
(1) had (2) % H
(3) wadw (4) ®FdE
day and year is celebrated as World Population Day and year.

a. 11t July, 1974
b.  10%h July, 1970
c. 13th July, 1975

d. 15t Jguly, 1971

Answer Options :
(1) Onlya (2) Onlyec
(3) Onlyb (4) Onlyd

T HHTATS! S / SPACE FOR ROUGH WORK P.T.O.
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3. QAT ST o :
T e/ sreamug reer
A, Gug e I i e
§. dF4r i, 3m
4. HUYS 111 B E U
3. fodwr iv. T®3
Tt I
H K ) <h g
(1) i i iv i
2 iv i il
3 u v i ‘ 1ii
4 v 1 i 1
Match the following :
National Park/Sanctuary District
a. Sanjay Gandhi Park 1. Raigad
b. Tansa ii. Thane
¢. Phansad iii. Yavatmal
d. Tipeshwar iv.  Mumbai
Answer Options :
a b c d
(1) 11 1 iv il
(2 iv i i i
(3) 1 iv i 1ii
4y iv 1 i 111
4, e {yrder gatd wH @ gald S 8% M e I 2

(1) em, iR (2) R, IEHETEG

3) fiireh, die | (4) g, TR

In Aurangabad Division, which districts have the minimum and maximum area ?
(1) Jalna, Aurangabad (2) Parbhani, Osmanabad

(3) Hingoli, Beed (4) Latur, Nanded

FoodT ST TR / SPACE FOR ROUGH WORK
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5.  iwud U - B AfeA gEeied! Ue= UeEe e,
(1) mmEd (2) iUl
(3) iy == (4) wERERH |4
In Konkan, the evening rain which falls around in the months of April — May is
called
(1) Mango shower (2) Konkan shower
(3) Orographic rain (4) Sahyadri shower
6. wEmwEE _ fewmen ggg drie 9 Sewem 9oa .

(1) uieER, T, 98

(2) 3, g1, HEHGTH

(3) WY, AE, Ties

(4) Taygd, Ao, Wewr

In Maharashtra, group of districts are rich in manganese and iron-ore.
(1) Palghar, Nashik, Dhule

(2) 'Thane, Pune, Ahmednagar

(3) Solapur, Latur, Nanded

(4) Sindhudurg, Nagpur, Bhandara

7. TEMIYIT Wiefieia<h! v fegaa dg@iers a1 3wd ?
(1) 3rEAETR, g, AT @ Wit
(2) T, IFAHTS, HICET T AT
(3) <EW, e, Wew g faygt
(4) HEW, Fire, IRTERE 9 A
Which of the following districts in Maharashtra have iron-ore deposits ?
(1) Ahmednagar, Beed, Jalna and Parbhani )
(2) Nagpur, Yevatmal, Kolhapur and Solapur
(3) Chandrapur, Gadchiroli, Bhandara and Sindhudurg
(4) Satara, Sangli, Aurangabad and Latur

8. Qreltedeh! sivrear fswmr= a9we S waid s 278 ?

(1) g (2) s (3) Hremg (4 g
‘Which of the following places has the least temperature range ?
(1) Nagpur (2) Beed (3) Solapur (4) Mumbai

Froeq] HIFTATS! FR / SPACE FOR ROUGH WORK P.T.O.



N15

6 A

TREATY IEAT=AT S TEfoR T s AEHET 15 SN TS
A, Tt gETTdter ArfieETg S .

¥, IR e ST S,

%, TS T @S B

g, Tt W g1 Wes wO.

e S /3 st s /a2
gt I :

(1) ®F A

(2) ad % M E

(3) & I AN

(4) SFdd

The main objectives of ‘Gram Swachata Abhiyan’ run by the Government of
Maharashtra is :

a. Reduce casteism in rural society.

b.  Use of toilets in rural area.

c. Cleaning the human soul.

d.. Cleaning the air in rural area.

Which of the above statements is/are correct ?
Answer Options :

(1) Onlya

(2) Onlycandd

(3) Onlyaandd

(4) Onlyb

10.

HIoTT o IS GTer e qU WA TR AT sl ?

(1) 1951

(2) 1960

(3) 1961

(4) 1950

In which year was Pune city flooded due to burst of Panshet dam ?
(1) 1951

2y 1960

(3) 1961

(4) 1950

FTEUT HITATS! SR / SPACE FOR ROUGH WORK
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11, = TS I T A9OITG TEET Bol AT W Ui e gt falarerea TR s
el Bid). TR P T IV TR AT WO IR R 2
(1) TAmiR
(2) =
(3) IaHIHEI IS
(4) et g g

Justice Ranade had, in a speech, expressed his dissatisfaction about Mahatma
Phule’s opposition to the Indian National Congress. In which tract did Mahatma
Phule respond to this speech ?

(1) Gulamgiri

(2) Ishara

(3} Shetkaryacha Asud

(4) Sarvajanik Satya Dharma

12. i9 y@ifyorEs gige gdfediia =i g9 2

(1) A1 Wi ¥ (2) T1. 9IS g AT
(3) &HW g (4) ST TR Tk
Who was the first General Secretary of the Bombay Association ?
(1) Nana Shankar Seth (2) Dr. Bhau Daji Lad
(3) = Balakrishna Munje (4) B.G. Tilak
13.  SHiAgrren fard 500 el eEEEAS A=A AgeaTETedt Bt e
(1) T HIgg Jsit
(2) g wew
(3) gl dawm e
(4) =T TG

500 farmers took out a march in Allahabad to protest against the landlords under
the leadership of

(1) Raja Mohammed Haji
(2) Vallabhbhai Patel

(3) Alluri Seetarama Raju
(4> Baba Ram Chandra

Toed] HAITS! ST / SPACE FOR ROUGH WORK P.T.O.
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14.

8 A
nfeanet Ieanforeh v faum ga#ret ama ?
3. 1818 ey gl Wewtes 1fU1 31181 W I3 el
g . U4 Tuger ynw YW gt I wehed w3l e e,
%. 1822 7ey fau Am@rea fugrean Sgararef 8@ gE I,
8. F. 9 I 1845 vl Rigie | ymfavar=n yae e
it I
(1) % &1 T §
(2) ®ad =
(3) a9, H M T
(4) $F3

Which statements are false regarding the Revolt of the ’i‘ribal People ?

a The Bhils revolted in 1818 at Satmal and Ajantha.

b. Capt. Dusart captured and punished Sheikh Dhulla, the leader of Bhils.
The Revolts of Bhils started under the leadership of Hira in 1822,

d. Capt. Jell tried to supress the Revolt of Bhils in 1845.

&

Answer Options :
(1) Onlyaandb
(2) Onlyc

(3) Onlyb,candd
(4) Onlyd

15.

yriaRET YA e Sl W SdeTd 9 Tad. & S disavanand! fig wewi
‘& ARf uftwg hioren ME wRac ?

(1) s (2) "t
(3) o (4) 9l

The Hindu Mahasabha organised a Caste Conference of the ‘Gurav’ caste in order to
resolve the issue of inclusion of the converts back into their castes. Where was this

conference held ?
(1) Nashik (2) Jawala
(3) Pune (4) Jejuri

HEedT HHTERE ST / SPACE FOR ROUGH WORK
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(1) €, 3, 9,
(2) &, ¥F, S
3 ¥, 9, @,
(4 8, ™, H,

Arrange according to chronological order the works of Dr. Babasaheb Ambedkar.
Peoples’ Education Society founded at Mumbai

Establishment of ‘Scheduled Caste Federation’
Establishment of ‘Bahishkrit Hitkarini Sabha’
Answer Options :
(1) b, d, a ¢
(2) a,e,d b
3) d, b,c a
4 d, ¢ ab

a
b. Satyagraha of Kalaram Temple Entry
c
d

17.

gi. sisgwt I gE oo o1 Fraetaea s e g, # “4ed semea
fra s, af=sh @ fafie o St feads aeodl smea a1 gwETT el TR
T 3R, A HIOTAH wE@E} w| r"ad Arelt, 9 s seadi=n w3 s Sdia seentiEE
m:ﬂ@.”

(1) sfgspa wra (2) HHATH
(3) S (4) Wgg ¥rd
The editorial of established by Dr. Ambedkar warned that “Many of the

newspapers in the Bombay Presidency seem to be concerned only with the
well-being of certain castes... We warn such newspapers that if a single caste is
downtrodden, its blemish does not spare the other castes.”

(1) Bahishkrit Bharat (2) Mooknayak
(3) Janata (4) Prabuddha Bharat

FoT HIYTATSE ST / SPACE FOR ROUGH WORK P.T.O.
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18. WRAIA Tl 9Bde I HaeA1 Jrfawfrean = omat
o, A dueh o i ‘Tore A YRR
% #fif. afen i gad frof s deer
. FEIH AAT i,  Rewe INH0H QS T
3. g A v, ‘Fhw wifteiee T Teet R
it 3w : |
qH T F T
LV i i iv i
(2) i iv i i
3y iv i ii i
4) il il v i

Match the following pairs regarding the Leftist Movement and Organization in

India :

a. Narayan Meghaji 1.  ‘Madras Labour Union’
Lokhande

b. B.P. Wadiya ii. ‘Bombay Mill Hands Association’

c. Jayaprakash Narayan iii. Established the ‘Radical Democratic Party’
d. Manbendra Nath Roy iv. Important Leader of the Congress Socialist Party

Answer Options :
a b ¢ d
(1) ii i iv i

(2) i1 iv i i
3y iv i i il

(4) i1 il iv i

19, 1931 YA SRR At R gue Y A, e gues I Ee ?

(1) Faa T (2) fa.gr. g

(3) . T, sidsw (4) TEHRY MBS

The newspaper called Matrubhumi was published from Akola in 1931. Who was its
editor ? _
(1) Anantrao Gadre (2) V.D. Savarkar

(3) Dr. B.R. Ambedkar (4) Dadasaheb Goley

T HHTATE! SR / SPACE FOR ROUGH WORK



20, @l S Jord ¢

HIHR Hed FTIf i.

ii.

ii.

iv,

ii

11l

il

1

Hanged in Kakori Conspiracy 1.

d
i1
i

iii

H.

o o g
F. o T
g e e
it I ;

A oo <
1B w i 1ii
(2) i i v
3) i iv i
(4) i1 1 v
Match the following :
a.

b. ‘Azad Dasta’
c. ‘Lal Sena’
d. Azad Radio

- Answer Options:

a b ¢
(1 v i 1l
(2) i Wi iv
3 i iv i
(4 i i iv

1ii

ii.

i,

iv.

Bhai Kotwal
Ashfaqullah
Vitthal Jauhari

General Awari

N15
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21, WA TSITESAT GeMia Ui fHResTar =
9. TSI ud oe.
%. T B yiftidean faeg a1,
8. s fafie v sifusa aid AT

Fieehl v /dt faum /3 st em/q ?

gt I

(1) aq 31 I § (2) had § ATV &
(3) wad A (4) %dd 8

Secularism in the context of the Indian Constitution means :
a. The State is prohibited from making laws on religion.
b. The State has a religion.

¢.  The State is anti-religious.

d. There is no specific official religion of the State.

Which of the above statements is/are correct ?

Answer Options :

(1) Onlyaandb (2) Onlybandc
(3) Onlya (4) Onlyd

22. WRAN "Hars S @ STl I9al asafaws e TEUHT oot 29
METICH

(1) =a:g@

(2) Tggdif seon mifgen @€

(3) TV THHIAT T el HEA W

(4) 2T ThaT § ST AT A AT Gg1 FHAA H

The Supreme Court of India tenders advise to the President on matters of law or fact

(1) on its own initiative

(2) only if the President seeks such advise

(3) only if the matter is related to fundamental rights

(4) only if the issue poses a threat to unity and integrity of the country

Foo HETHIST AR / SPACE FOR ROUGH WORK
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23. WW&@WWSHW%WWWWW?
TERIY F Mt

Hforg

ETices

TERIY & o

Tkl v/t aTg S0 IR/ ?

gt I :

1) w3 (2) A

(3) A H M T . (4) ®Ed S

o o3 A g

Which State does the special provision in Article 371 of the Indian Constitution
relate to ?

a. Maharashtra and Goa

b Manipur

¢. Karnataka

d. Maharashtra and Gujarat

Which of the above options is/are correct ?

Answer Options : _
(1) Onlyd (2) Onlyb
(3) Onlyaandb (4) Onlyc
24, =1 3feaa wfe sfae yrdia TeameAe sfoserde tE AEwqul e IR,
(1) 1891 (2) 1861 (3y 1871 (4) 1881
The Indian Council Act of is an important landmark in the Constitutional
history of India. | '
(1) 1891 (2) 1861 3 1871 (4) 1881
25. WG] a9 FEGETET AR §@ 1 aretavgrEn iR TR,
(1) d|een (2) Tgadt
(3) fauft smarmen (4) YA HETE AT
The power to increase the number of judges in the Supreme Court of India is vested
in the
(1) Parliament (2) President
(3) Law Commission (4) Chief Justice of India

FTET HHTETS AR / SPACE FOR ROUGH WORK . P.TO.
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26. HATHS GURUTE foam Fuamdl aterd Aegat 1930 7Y ded AY Mo diwe s

s, T TR R o T 1933 wEY T oseEe TR
il w@auten afig Hel.

(1) gE= (2) wgrE

(3) da= (4) e

The Government decided to hold a Round Table Conference in London in November
1930 to consider Constitutional reforms, after Round Table Conferences,
the British Government published a White Paper in March 1933 containing an

outline of a new Constitution.
(1) second (2) sixth

(3) third (4) fourth

27. wrefel Fvih T T TR e T Sased o ?
(1) TEvd Hded
(2) HYd BFF
(3) uHG ArEE
(4) €UGE TR

Which of the following provisions is borrowed by the Indian Constitution from the
American Constitution ?

(1) Fundamental Duties
(2) Fundamental Rights
(3) Single Citizenship

(4) Parliamentry Government

T FETHIS! SR / SPACE FOR ROUGH WORK




28,  SIET WET (AT SFHEEHIA)

it
H. GHAAT €&
¥, WA 856

. TS faege &
3. wienias st Sl ga
g I

A | &F T
U i v i i
(2) i i i iv
3 v i1 1 ii
@) iv i i i

Pl 5% e b e e i 8

15 N15

i, SREEmY e aeie giEy

ii. TerEEEE fEfiee Gwn R 9
Tl AER

jii, e it saehimg ST G

iv. dEAHEE HAE A0 qqH gt

Match the pairs (About Fundamental Rights) :

Category

Right to Equality 1.

Right to Freedom ii.

Right against iii.
Exploitation

Cultural and iv.
Educational Rights

Answer Options :

(1)
(2)
(3)
(4)

a
iii
ii
v

iv

b
iv
iii
iii

ii

c d
i
1 iv
i i
moi

Consists of
Prohibition of child employment in factories

Right to minorities to establish and administer
educational institutions
Protection of life and personal liberty

Equality of opportunity in matter of public
employment

Freed] HFTATS! AT / SPACE FOR ROUGH WORK P.T.O.
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16 A
Wy Tsaeemed &g N Uehtsy e ot SR Rl wwae el o =

R Eefieis e fogm 3 2

(1) wri-firer gawon, 1909

(2) Wie-SwwE $EE, 1919
(3) TeEHe 3% gfgan afae, 1935
(4) VNER TN $Ee, 1947

The distribution of powers between the Centre and the States in the Indian
Constitution is based on the scheme provided in the

(1) Morley-Minto Reforms, 1909

(2) Montagu-Chelmsford Act, 1919
(3) Government of India Act, 1935
(4) Indian Independence Act, 1947

30..

Tl HEH AR refie faum faem @ .
W% Ty T faemdieren s Fashl .
%, U9 JEEl i 3ot Teassf) g+,

T TS TErEAT HETtuaarEt Tt e
STt HI fau™ s A8 2

g I

(1) e H AT 9

(2) HEd % I

(3) ®FA W, Mg

(4) =ha &

Consider the following statements regarding the Executive Powers of the Governor :
a. The Governor appoints the High Court Judges.

b. The Governor appoints the Vice Chancellor of the Universities of the State.

¢. The Governor appoints the Chief Minister and other State Ministers.

d. The Governor appoints the Advocate General of the State.

Which of the above statements are correct ?
Answer Options:

(1) Onlyaandb

(2) Onlycandd

(3) Onmnlyb,candd

(4) All of the above

FreeqT HTRITS! SIAT / SPACE FOR ROUGH WORK
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31, vrd srefergmd=h genyg Afsmest i ?

H. &S I HH

. hueEl T698 g9

%. dIAHEl SER FHH

g Oy fawa faam

qatedt I

(1) & A (2) e A 0T F
(3) A FTE (4) =R wE

Which of the following are the basic characteristics of the Indian Economy ?

a. Low Per Capita Income

b. Heavy Population Pressure

c. Prevalence of Low Level of Technology

d. Maldistribution of Wealth

Answer Options :

(1) Onlya (2) Onlyaandb
(3) None of the above (4) All of the above

32. WWWWWWWWW’W%?
(1) | T (2) S I
(3) WHEg Y T (4) T FEA s

Who formulated the ‘People’s Plan’ which laid down the path for the planning
process in India ?

(1) Shriman Narayan (2) Eight Industrialists
(3) Manbendra Nath Roy (4} National Planning Commission
33.  gE= yEETe Aieqrean @i a3t RICIEEEECES QDI EICIEE R I

(1) #H.wq. g onfr Ff. s JamEe (2) IR, TS A o, WrEd
(3) oA, g st A, wEeEEE (4) R, SR i I, vt

emphasised on the wage goods model at the time of formation of Second
Five Year Plan.

(1} C.N. Vakil and P.R. Brahmananda (2) LG. Patel and J. Bhagwati
(3) C.N.Vakil and P.C. Mahalanobis (4) P.R. Brahmananda and J. Bhagwati
Feed] HIFRIG! SN / SPACE FOR ROUGH WORK P.T.O.
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34. 99 WA T At W v e
3. HgEEEn fawm
3. e gmmn fam
%. Mg gfawn faem
T wWies AIE @ gHods Jg1

qqidt I ;
(1) %o A (2) S 9
(3) g A M H (4) wFAE

The focus of the Ninth Plan was on

a. Development of Service Sector

b Development of Industrial Sector

¢.  Development of Infrastructure

d. Growth with Social Justice and Equality
Answer Options :

(1) Only a (2) Onlyb
(3) Onlyaandb (4) Onlyd

35. e fmm i FENE SR TR ?

a1, fogw

q9. W

#. 3

ESRS SRR Bl

Tt I

(1) ®¥d S (2) od 3, & AT &
(3) ®Fa A, q TS 4 o) ud

Which are the social indicators of economic development ?

a. Education

b. Health
c. Food
d Growth of Gross National Income

Answer Options :
(1) Onlyd {2) Onlya,bandc
(83) Onlya,bandd (4) All of the above

Foeq] HTHATS! AR / SPACE FOR ROUGH WORK
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T 2019 — 20 9= Fa1 KR Taitos _ =it et
(1) < (2) ¥ AiFEAI
(3) wigedar Hal 4) fam

registered the highest export from service sector in 2019 - 20.
(1) Banking services {2) Non-Software services
(3) Software services (4) Insurance services

37.

Qreiteriehl ol agstET aitga R aret el 3T ?
(1) mifas s

(2) wFa faw@ sEaE, 2010

(3) fareH s

(4) uRdE figeg o

Which of the following has introduced Multidimensional Poverty Index ?
(1) World Bank

(2) Human Development Report, 2010

(3) Planning Commission

(4) Reserve Bank of India

38.

AT SHIved] T Sk Head ?

A gh I

¥ g g

®.  REies S

g, THARHS 95

gt I ;

(1) herd 3 (2) wEd 3, gt s .
(3) wFd® (4) I od

Which type of unemployment is found in India ?
a.  Disguised unemployment

b.  Seasonal unemployment

¢.  Educational unemployment

d. Structural unemployment '

Answer Options :
(1) Onlya (2) Onlya,bandc
(3) Onlyec (4) All of the above

PR HHTHIS! SR / SPACE FOR ROUGH WORK P.T.O.
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20 A

1. T, @ anfor §ouw, fasftw I md oiten Afgeen smeehien e
Y HEET TR,

(1) ¥ farg e 98 ot e

(2) Ttz gitomm anfor Iew afomm

(8) Tnegurm=n witemy anfer wed Sf-gey mwor

(4) Ioaw wfomm onfor ged 9

According to C. Rangarajan, Seema and E.M. Vibeesh, the rural females labour force
participation rate has declined due to

(1) Child marriages and growth rate decline
(2) Education effect and Income effect

(3) Education effect and declining sex ratio
(4) Income effect and growth rate decline

40.

Grefteh! S weh e smwam e smad ?
#.  Frge geweta 3=

g, Troae tsals el I

®.  TFAUEhE Fol

T UM giaurE raeEa

gt 3

(1) wed 3

(2) Wad 31 M

(3) wHT

(4) Y Td

Which of the following factors indicate regional imbalance ?
Net State Domestic Product

Per-Capita Net State Domestic Product

Trends in Investment

o TR

Infrastructure Disparities
Answer Options :

(1) Onlya

(2) Onlyaandb

(3) Onlyb

(4) All of the above

T FHTHIS! T / SPACGE FOR ROUGH WORK
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41,  wrel Reen swis s 9o g Freasiie e G ste/eed ?
q. A gewn 3= g 9 aed WHI I I STEEEdr e

i I ;
(1) S A (2) R«
(8) 31 anfor 9 A (4) =i HommE T

Which of the following policy research conclusions by World Bank is/are correct ?
a. Growth is positively affected by stock of infrastructure assets.
b. Income inequality declines with higher infrastructure quantity and quality.

Answer Options :
(1) Onlya (2) Onlyb
(3) Bothaandb (4 None of the above

42, @A foum famma = \
. 319, 2019 TS HHAT T SETH ST gEAT FHHIHE! AGid Wid T I8 IR,

. 2019 — 20 Hed WRRw T wigeie waor 36-5 fRl @w 2020 — 21 WY 40-5 Rerft =%
wgvita fren aree AR,

TR FvR / faum /3 9w sam /a2
gt IW ;

(1) W 3 A7 M

(2) od § A AT

(3) A& 31 anfor & g onRd

(4) 2 a1 anftr € 9 sRd

Consider the following statements :

a. India’s road transport is the second largest in the world as on 31 March, 2019.

b.  The extent of road construction per day increased substantially in 2020 — 21 to
40-5 km per day from 36-5 km per day in 2019 — 20.

Which of the above statements is/are correct ?
Answer Options :

(1) Only ais correct

(2) Only bis correct

(3) Both a and b are incorrect

(4) Both a and b are correct
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43.

22
GTeATcIehl HITd TP LED FIHaT Hesh 374 ?
H.  GaiaE A6 qUd IFd Sl LED (ISTe)
. U T fagdieer sisn (SLNP)
qatdt 39
(1) wad F
(2) wFa 9
(8) & anfor 9 Sl
(4) ¥ M F S AT

Which of the following are the components of the National LED Programme ?
a. Unnat Jyoti by Affordable LEDs for All (UJALA)

b.  Street Lighting National Programme (SLNP)

Answer Options :

(1) Onlya

(2) Onlyb

(3) Bothaandb

(4) Neitheranorb

44.

HRAdA @refladshl v T59 100 766 Foaiohe 763 AISU (Figad) Mol TEH T WM

I T Feviad R 9igs 79 s ?
(1) vsNE
(2) B

(8) TEUd
(4) T

Which of the following is the first State in India to have 100 percent households with

tap water connection, that is ‘Har Ghar Jal Rajya’ ?
{1) Maharashtra

(2) Kerala

(3) Gujarat

{4) Goa
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45, @iia faum TeRE @
. 2016 UL JSAE @ Hheft N,
q. IS g ARG gl Jawd s faea wriwa o,
%. 2016 Usd ITH GE g% wa, wrara 74 fmmae Feifim ™ i @
TR HIvR /d faum /3 e JR /3 ?
gt I
(1) e 37 ifer & S 3Ra
(2) E & 3T % FUSH 3R
(3) A 3 MU % FUGR AT’
(4) A 9 T AR

Consider the following statements :
a. UDAN was launched in 20186.

b. - UDAN is an International Airport Development Program of the Government of
India. | :

c. Till launching of UDAN in 2016, India had 74 airports having scheduled
operations.

Which of the above statements is/are correct ?
Answer Options :

(1) Only a and b are correct

(2) Only b and c are correct

(3) Onily a and c are correct

(4) Only b is correct

46. WW%BWMWWWW;@%
3G AL 2020 WS AT A,
(1) i oo gy W
(2) =€ anfin argum anfer Freram 9
(3) ==d iy Ty ¥
(4) I onftr orgue ety Frepraw &2

The undersea 2313 km optic fiber-based telecom connectivity between was
inaugurated in August 2020.

(1) Kochi and Lakshadweep Islands
{2) Chennai and Andaman and Nicobar Islands
(3) Chennai and Lakshadweep Islands
(4) Kochi and Andaman and Nicobar Islands
FoeqT HHTHIS! STRTT / SPACE FOR ROUGH WORK P.T.O.
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47.  EE Fqq THA TAFUHE AR YA QU STt
(1 1991 (2) 1994 (3) 2001 (4) 2005
Foreign Investment was allowed in Telephone services from .
(1) 1991 (2) 1994 (3) 2001 (4) 2005
48, TFEN ARHER WER R S W WAaTEgHITER o= <
U ATl
(1) foemn, <ten (2) <, fomu
(3) <em, sem (4) o, foww
In terms of route length, Indian Railway is largest in the world and in
terms of freight traffic, it is largest in the world.
(1) third, fourth (2) fourth, third
(3) fourth, fourth (4) third, third
TR feRe 2030 THRIER, HeETe sETie g gRvifarrl wefiatd S g

49.

I IR ?

A, TiFA - AR TORR — 1: 1418

T a7 fo R - 894

. UEIER Ut s sqed wnnef amHie Aieseds) Takart — 849
g uig at @i wer e e - 31

it I
(1) #, & FHAME (2) *ds A A &
(3) A A, T AMTF (4) HIB T, HIAOE

Which of the following points about social infrastructure in Maharashtra is correct,
as per ‘Vision 2030’ document of Maharashtra ?

Doctor — Population Ratio - 1: 1418
Child Sex Ratio — 894
c¢.  Percentage of rural population covered under piped water supply — 849

d. Average school students per classroom — 31

Answer Options :
(1) a,b,candd : (2) Onlyaandc
(3) Onlyabandc (4) Onlyb,candd
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50, 2021 =& AT Fgw et STEETE= JHR, Wiefieshl Hivet fauae g e ?
A, 259 TR 220 FE g 9 T e gete g Ivesa T,

. U YT T hdes 23% HEAFT §e Gl Iuete AR,
+. 25 Ya i 2wt Sgardt 2021 T4a WesT §g AT B,

ot I

(1 &, 93w S (2) Fas ot e

(3) %as ¥ anf® (4) Fa@ A

Which of the following statements are correct, according to the household survey

data of UNICEF of 2021 ? -

a. 220 crore children and youth below the age of 25 do not have fixed internet
access.

b.  Only 23% of children residing in rural areas have internet access.
c.  More than 25 countries had kept their schools closed till February 2021.

Answer Options :
(1) a,bandc (2) Onlyaandb
(3) Onlyaandc (4) Onlybandc

51, @relie ¥ foemm e
A 1A, 2005 TET WA FE AR] HOATd ATl Bl
g, 5 ity e hewnfie yew aear Od U /HEwiia FeEi sge @] el g,

TRl Hor /A faus/3 I F@/a 2

qidt I ;

(1) Has o I AR (2) 9w ¥ I AR

(3) T A omfur ¥ I IRG (4) =& 3 anfor T A A

Consider the following statements :

a. VAT was introduced in India from 1°° April, 2005.

b. VAT was introduced by all States/Union Territories except the Umon
Territories of Jammu and Kashmir.

Which of the above statements is/are correct ?
Answer Options :
(1) Only a is correct (2) Only bis correct

(3) Both a and b are correct (4} Both a and b are incorrect
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52, WU Hdeicd] HICehITes ek 3UTATd Wiciieidsh! SIvd garay 7g7 ?
(1) wESHH I ATaH Gerlt dThe saiaia S
(2) §g® I9HA
(3) JENT FFERATE B0
(4) 1S 9gAM W
Which of the following is mot a part of ownership measures taken under
privatisation ?
(1) Transfer of ownership of a public enterprise to private hand
(2) Joint Venture
(3) Liquidation
(4) Leasing
53.  TNIfde AU HHeAd GiEidish! HIU T THINIE 3Rd ?

9. BN e

F. Ude anfur sienfies fegms
g 3y enfo et s
it I

(1) aa 37 M0 &

(2) wFd ® anfir g

(3) had 3, § N0 &%

(4) afiasht vd

Which of the following aspects are included in the World Trade Organisation ?
a. Banking and Insurance

b.  Agricultural Products

¢.  Patents and Industrial Designs

d. Drugs and Chemical Products

Answer Options:
(1) Onlyaandb
(2) Onlycandd
(3) Onlya,bandc
(4) All of the above
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54, Wicliceh! PV ITTRHIHONS A9EE g7 ?
(1) =% 9 U=l g NA18
(2) WiEIATHET Yh VaIE
(3) sitEprEh g% gt
(4) TRy T0EK gmifrs-anfides awmar

Which of the following is not a parameter of globalisation ?
(1) Free flow of goods and services

(2) Free flow of capital

(3) Free movement of labour

(4) Socio-economic equality at global level

55. “IFIfoehisw TRV WISAH, 9%, A9, oAl M AT TH 9K, aﬁmﬁ@wﬁaﬁw

I YEGeT IS o AR orHd i fewre Ama.” € SmfahieRonsht samen EIC]
wifiaeft =,

(1) dush T (2) s ks

(8) e fefreres (4) T et

“GGlobalisation means free movement of capital, goods, technology, ideas and people.
Any globalisation that omits the last one is partial and not sustainable.” This
definition of globalisation is stated by

(1) - Deepak Nayyar (2) Branko Milanovi¢
(3) Joseph Stiglitz (4) Jagdish Bhagwati

56.  OINfd SHIYRN HHEAT il Hhogl HHAT ATl ?
(1) 1 9ad, 1991

(2) 5 %gart, 1994
(3) 1 9Ha, 1995

(4) 26 WHad, 1996

When did World Trade Organisation Agreement come into effect ?
(1) 1% January, 1991

(2) 5" February, 1994

(3) 1°*January, 1995

(4) 26th January, 1996

FeeqT HHTATS! AT / SPACE FOR ROUGH WORK P.T.O.
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57. ORARIA i guRUT=AT deuia wrelle favm fa=m o

A, wymeniiE fRdeome semadata e, fada st sreerdie 99 awriee 9=
qIEY gdl.

¥, HEAHS GHREINHWS =M Afr wieaet Yarg guren, sheifies fam g gwEw
gia.

Flerdsht v/t fam/3 O 2R /a 2

gt I ;

(1) & 3 Iy AR (2) had & IT IR

(3) SEl 31 T & A IRa (4) I o1 anfor § I ammRa

Consider the following statements in the context of economic reforms in India :

a. Macroeconomic stabilisation consists of control of inflation, fiscal and balance
of Payments adjustment.

b.  Structural adjustments consist of trade and capital flows reforms, industrial
regulations.

Which of the above statements is/are correct ?

Answer Options :

(1) Only a is correct (2) Only b is correct

(3} Both a and b are correct (4) Both a and b are incorrect

58.  SMIfae AR HeeA=AT Hewia w@eid faum e =
. AR SR THET I AAE SR q9a T S g TR,
3. T ofive 3 watw e aom dee .
%, fede 2005 e wereh W afieg qer a9 weft .
et v/ faum /A srger 3R /A ?
gt I ;
(1) BRI AT (2) $FIT S (3) PFw (4) %ad 5
Consider the following statements regarding the WTO :
a. The purpose of WTO is to remove restrictions on international trade.

b. The highest decision-making body is the Ministerial Conference.
C. The Sixth Ministerial Conference was held in Doha in December 2005.

Which of the above statements is/are incorreet ?

Answer Options :
(1) Onlyaandb (2) Onlybandc (3) Onlyb (4) Onlyc
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59. WAl Ygd) devia Wiee faum femmd e

A g fofaww (RTRaEsTF) RS aesiHe IeearEl JY0 ATkl @t g
TG w0,

¥, qEEI G TR rdeies JushATe Wyl HTerh! SEUE Suhs FRIaRd .

Tledht HvR /A faam /3 geag/a ?

ot I ;

(1) des 31 T IR

(2) Hdxs 9 TH AR

(3) T T MM o I AT

(4) QE 31 P o WS R

Consider the following statements in the context of Methods of Privatisation :

a. Total denationalization implies a complete transfer of ownership of a public
enterprise to private hands. :

b. Management buy-out implies a complete transfer of ownership of a public
enterprise to multinational corporations.

Which of the above statements is/are incorrect ?
Answer Options :

(1) Only a is incorrect

(2)  Only b is incorrect

(3) Both a and b are incorrect

(4) Both a and b are correct

60.  SIFIfe S WRATEN GEESe FTEeHS U 3914 iVl HIumEnd! gl ?
(1) Segfom g
(2) WIS g
(3) &N anfd=w drm

(4) wifges awor

Structural reform measures suggested by the World Bank to India were of which
policy ?

(1) Education Policy
(2) Labour Policy
(3) New Economic Policy

(4) Monetary Policy

FoEd] BHTATSE SR / SPACE FOR ROUGH WORK : P.T.O.
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61. 2020 - zlmmmmm%mmwﬁ%mmmm
ﬂﬁﬂw LT =T HECER HHATE ST
. emmfE
%. HitE™
it IW
(1) f&EmE - wm, smfe - fgda, wifew - few
(2) T — Yow, wifeE - fidm, g - foga
(3) =™ — yuw, famg - fifr, amifie - faug
(4) wiferE — wem, s — feda, famgr - faag
Rank the following investor countries in order of their importance having the
largest percentage share in Foreign Direct Investment in India for the Financial
Year 2020 - 21.
a. Singapore
b. USA
¢.  Mauritius
Answer Options :
(1) Singapore — First, USA — Second, Mauritius — Third
(2) USA - First, Mauritius - Second, Singapore — Third
(3) Mauritius — First, Singapore — Second, USA — Third
(4) Mauritius — First, USA - Second, Singapore — Third
62. ¢ (TRIPS) 3fata 3=, iy for qomtes gt I ayiatdl FdtEe 9
(1) 20
(2) 50
(3) 30
(4) 25
Under the TRIPS, food, medicines and chemical products have _  years
protection of copyright and related rights.
1y 20
(2) 50
3 30
(4) 25
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e Teerean wifgdi=ar R geoT HAesEt ¢
1. ) w9 1999 Wed FTed.

q. I T 1997 — 99 wefiet smrfaes anfies TeReT e Sgvasiean offde qRfErdieR Iu
MuvESt S,

F. & T AG-EEHIN A9 N (HeAn IOH LIEEE).

T I R stewda anfie S ara swamEen gRone 9= FaEEl wiedl.
gt I

(1) ST &

(2y sft20

(3) R faem W

4) 7

Identify the institution from the following information :
a. It was formed in 1999.

b. It was formed to find a solution to the situation that resulted from the global
financial crisis of 1997 — 99.

c. Itis an intergovernmental forum involving middle income countries.

d. It is formed for discussing policies to achieve international financial stability.
Answer Options : l

(1) The World Bank

(2) The G20

(3) The Asian Development Bank

(4) The G7

64.

g9 2015 7 o AN el gge Wit uite A9 wiereht g,

(1) ®BUT=IT
@) g
(8) et

(4) =rRm

The WTQO’s Tenth Ministerial Conference was held at in 2015,
(1) Hongkong

(2) Singapore

(3) Nairobi

(4) Indonesia
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65. mzms-wa@mﬁmmaﬂmﬁmﬁa B 29 ufgem iR TR,

(1)
(2)
(3)
(4)

(1)
(2)
(3)
(4)

TR
fegeaets

AT
st

has the first position in India’s exports in 2018 — 19.
USA
Switzerland
Japan
Germany

66. oy s forier FEFET 71 W e U dATErd! Tratae

A, G4 TR e

9. gEadeR e

%, fodig qe v FevamEt

T SaErRaede et garvamEet
Iy Iw Fae.

gt I

(1)
(2)
{(3)
(4)

Hed 3, § T E
HFd &, & A T
e & ST
herd 37 ST §

Macroeconomic Stabilisation Program was adopted by the Government for the
following measures :

a.
b.
c.

d.

Control import of gold

Control of inflation

Fiscal correction

Improving Balance of Payment position

Choose the correct answer,

Answer Options :

(1)
(2)
(3
(4)

Only a, cand d
Only b, c and d
Only b and ¢
Only a and d

TRl STHRITS! W / SPACE FOR ROUGH WORK
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Al For Prrfen Feri fid w9 e SrEHET) ST o S S e 2
(1) e e fata 6 (EXIM Bank)

(2) e Ncae wisaeh a= (EPCG) ars

(3) TUFHUR shige M) wiunym e e fafies

(4) STUeHTA hige Tt ol Arer

Which one of the following provides insurance cover to banks against risks in export
credit lending to the exporter borrowers ?

(1) EXIM Bank

(2) Export Promotion Capital Goods (EPCG) Scheme

(3) Export Credit Guarantee Corporation (ECGC) of India Ltd.

(4) Emergency Credit Line Guarantee Scheme (ECLGS)

- UAE Taavhlaiies I=eaiig erieh B Hefua @iefierih! st faum et amga ?

. ufgel d3% 2 AR, 2021 TS gos, UAE 39 st

¥, Tyoum qaavEEeh defua weR are o suaeidR T SEdis FE s 9.

*, %mwmmmwmmw

3. 2 AR, 2021 =1 F5Hd TE-UAE HomHaws e qrftght St arerandiean
AT QT widen o 7T heteen hiaagder f&g g asagad! T8 He.

ﬂ'ﬂ'i'ﬁﬁﬁi:
(1) e 9, & A0 8 SR 32T (2) e 2, § 0T % S A
(3) B 3, T M T SR ARG (4) A, ¥, % A S G 24

Which of the following statements related to India-UAE High Level Task Force on
Investments (HLTFI) are correct ?

a.  The first meeting of HLTFI was held on 20d October, 2021 in Dubai, UAE.

b. It acts as a platform to address mutual issues associated with existing
investments.

c. It acts as a platform to promote as well as facilitate investments between the
two countries.

d. In the meeting held on 27d QOctober, 2021, it reviewed the progress of
negotiations for India-UAE Comprehensive Economic Partnership Agreement
and reaffirmed the commitment to stick to timelines agreed upon.

Answer Options :
(1) Onlyb, ¢ and 4 are correct (2) Only a, b and ¢ are correct

(3) Only a, c and d are correct (4) a,b,candd are correct
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69. Waasht Hiurd e advmEyes e nfied’ wuw st sOs AR 2
. mzomgﬁ%@wwm%m%@mamwu@zownﬁ
IR ST Sl
|, egsR 2020 AA T7 FOAT WIE Fe.
F.  IW has ARHAH (ASEAN) 9e8 =T HATET 3R,
2. - fawmg e SR ST HET WiedTed SOt aigeies ST gaid 31
“Ieh SR &% woTfid .
it I
(1) e 3 0T © F0=T ST
(2) Fd &, & A0 T FUR A8
(3) e #, § M0 &% FO ARG
(4) I 3, ¥ M7 T S AR
Which of the following statements are correct regarding ‘Regional Comprehensive
Economic Partnership (RCEP)Y Agreement ?
a. In 2012, India was a part of the negotiations, but opted out in 20189.
b. It was signed in November 2020.
¢. It includes only ASEAN nations.
d. It establishes the world’s largest ‘Free Trade Area’ with provisions promoting
investment, trade and services including e-commerce development.
Answer Options :
(1) Only a and d are correct
(2} Onlyb, ¢ and d are correct
(3} Only a, b and ¢ are correct
(4) Only a, b and d are correct
70. W9 2016 — 17T NN Gaities fHata eow fresfom &9 g
(1) ¢ &I (2) TER HIS
(3) T enfor g (4) AfrtER T
occupied the first place in India’s export earnings in 2016 — 17.
(1) Jute garments (2) Readymade garments
(3) Gems and Jewellery (4) Engineering goods

T BETAG! SR / SPACE FOR ROUGH WORK
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71. 92 TY g (DBT) ) IRt wivdt 3 aed ?

A, T guron
§. WO FHl

&, T TS

g warR Feem freau
qgie I

(1) A A0 «

(2) @ F AN

(3) wF A, g A %

(4) ofwvh wd

The Direct Benefit Transfer (DBT) plan aims at
a. improving targeting
b. reduce corruption

¢. eliminate waste

d. control expenditure
Answer Options :

(1) Onlyaandb

(2) Onlybandd

(3) Onlya,bandc

(4) All of the above

72. EF oHaRUHd A (EMC) Y wuneat 91 af g ane
(1) 2011 (2) 2014 (3) 2016 (4) 2020

Expenditure Management Commission (EMC) was constituted in the year

(1) 2011 (2y 2014 (3) 2016 (4) 2020
73. hoH HHRgA GMfdd w guron et o e HIET hedl.
(1) 2002 (2} 2004 (3) 2006 (4) 2017
The Kelkar Task Force Committee recommended tax reforms recommendations in
the year
(1) 2002 ' (2) 2004 (3) 2006 (4) 2017
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74,  IQEEIEHE R BN .
(1) TEY Il — G @
2) g
(3) wEHeh g — nEge @4
(4) wufHH e

Budget deficit means .

(1) Total Receipts — Total Expenditure

(2} Fiscal Deficit

(3) Revenue Receipts — Revenue Expenditure
(4) Primary Deficit

75. g GRS WiSael @aia 7 Seltan gETE gl
A, USY AT Ft
q,  offdes foermEndi=n wisaelt T
F.  YuHSHE @
T foeft wwoe
I It T
gt I ;
(1) ®ad, % AT §
(2) o A, & AMTE
(3) ad 3, § anfor g
(4) wFd A, § AT F
The capital expenditure of the Central Government consists of
a. Loans to State Governments
b. Capital expenditure on economic development
c. Expenditure on administration
d. Loans to Foreign Governments
Choose correct answers.
Answer Options :
(1} Onlyb,candd
(2) Onlya,candd
(83) Onlya,bandd
(4) Onlya,bandc
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76.  Giehedsh! ST w0 it R Feer A frera Feft 2 ?
(1) dudl ==
(2) WA o6
(3) <orfi =
(4) WA H
Which of the following taxes was recommended by Prof. Kaldor ?
(1) Wealth Tax
(2) Estate Duty

(3) Gift Tax
(4) Ser\fice Tax

77. g SCENSN HEgE @iy @efiausl e et gedid omea ?
A AR
. yiegat gTH
®,  H
€. anfdw faeg
it I ;
(1) B HA
(2) had A oMfUT §
(3) wEFad

(4) FOAYH Hod TTE

Which of the following are related to revenue expenditure of the Central
Government ?

a. Current taxation
b.  Capital receipts
C. Loans

. Economic development
Answer Options :

(1) Onlya
(2) Onlyaandb
(3) Onlyb
(4) None of the above
PeegT HTHATSI SIFT / SPACE FOR ROUGH WORK P.T.O.
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78. o e QU HUATETS! AT IV SHICHT TATYT FHI09Td 37T ?
A, Serar gHK
q. W%, gt
%, ydform g
= El= L]l
it 3
(1) % A
(2) ®add
(8) ad & AT §
(4) aht wd

Which committees were appointed for tax reforms in India ?
a. Chelayya Committee

b. N.K. Zaa Committee

c. Bhutlingam Committee

d. Wanchhu Committee

Answer Options :

(1) Onlya

(2} Onlyb

(3) Onlycandd

(4) All of the above

79.  9RAE SUE.A. =1 I I ST
(1) 87Fe=, 2016
(2) 13, 2017
(3) 179, 2017
(4) 1%, 2018
GST started in India from
(1) 8h November, 2016
(2) 15t July, 2017
(3) 170 July, 2017
(4) 15t July, 2018

FHoolT FTHHIS! SR | SPACE FOR ROUGH WORK
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F. TN qar

. HEEEw gar

T It fae.
Tt I

(1) %ad 3, ¥ (01 %

(2) T I, & IS
(3) Thed I, & AN T
(4) wH g, & e
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80. WIiIIUsh! YT T HIVIA 2TT8d ?

(1) Shugd. (2) I=T W

(3) Hudl (4) WHIAHGT

Which of the following is an Indirect Tax ?

(1) GST (2) Income Tax

(3) Wealth Tax (4) Property Tax
81, i TIERE HI IAET @Y aTTEd.

The Non-tax revenue sources of the Central Government are

a. Profit of Government enterprises
b. Tax on Estate duty

c.  Fiscal services

d. General services

Choose correct answers.

Answer Options :

(1) Onlya,bandc

(2) Onlya,candd

(3) Onlya,bandd

(4) Onlyb,candd

Foeg] HHTATS! SR / SPACE FOR ROUGH WORK

P.T.O.



N15 40
82. e o STET= TI9ET AT ST S HI]

(1) €. T (2) TSI SerEn

(3) 3% JAeeft (4) =l @

The Fourteenth Finance Commission was set up under the Chairmanship of
(1) C. Rangarajan (2) Raja Chelliah

(3) Arun Jaitley (4) Y.V.Reddy

83, WENA TTHEH (Hi Ml FUI= TE TE SR ?

(1) @ g (2) 9N &

(3) Wit (4) FhASH HoRE AT

Which of the following is the major source of éhort-term funds for government ?
(1) Treasury bills (2) Marked loans

(3) Securities (4) None of the above

84, YA IWYT A I1d T FAQEY B4l
. ARG FEH
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(1) ®Fd A M1«
(2) wad & 30 &
(3) e o BT &
(4) e wd

Food subsidy in India comprises of

a. Subsidies to farmers

b. Subsidies to consumers

c.  Subsidies to Food Corporation of India
Answer Options :

(1) Onlyaandb

(2) Onlybandc

(3) Omnlyaandc

(4) All of the above
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The Service Tax introduced in 1994 — 95 was applicable only on three services, which
were ’

a. Telephone services
b.  Share broking

c. Hotel services

d. General insurance
Answer Options :

(1) Onlya,bandc

(2) Onlya,candd

(3) Onlya,bandd

(4) Onlyb,candd

Feel SHETSE SIFT / SPACE FOR ROUGH WORK o P.T.O.



N15

86.

42 A
3 IUGER SEVIN T FaeuhE 135 7o @y otell. JvrEl IheEren 3y aaiea 70% T
fHaTefl omftr 1 40000 wa fawrft srerr. @ wgw fomft wagm st ?
(1) 100135
(2) 470135
(3) 100000

(4) 170135

In an election involving two candidates 135 votes were invalid. The winning

candidate got 70% of the valid votes and won by 40000 votes. Find the total votes.
(1) 100135
(2) 470135
(3) 100000

(4) 170135

87.

HIorht des A9 Hrer g e e o 7 151° 9 H g¥Ew ?
(1) 12:26
(2) 12:38
(3) 12:37

(4) 12:27

What time shows 151° angle between the hour hand and minute hand ?
(1} 12:26-

(2) 12:38

(3) 12:37

4y 12:27
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88. Sfgd P e dree AR If st AT green Yeie wfaeg et smed. SR e
T TREE geT 3R, @ Sl §E T 39 s ?

wferETg

ART: i B el AT 3T GRTAHT A1 e Fietelt.
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g: %A FA.
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(1) s

@ @

(3) Toft

(4) d@

Someone has felled a tree and while inquiring you got the following responses. If
only one of the responses is true, then who must have felled the tree ?

Response :

Tara: Daya lied when she said that I did it.
Guni: Idid notdoit.

Aisha : Daya did it.

Daya : Tara did it.

Answer Optidns :

(1) Aisha

(2) Daya

(3) Guni

(4) Tara
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89. fedew wa fafie SR Bff=mg s 4 @R 9 4 THAR o W o deyH 1@ fedreh
Hiord /it farum /3 Ffvaaun we ama 2

foram -

. 1 Hig=rE uigen foaw FHiveawo guan o

4. I g 9= guan 3o =R wiier o,

F. I Al TgewAr AT 31 A TR,

. & O Wear! g€ wl.

i I

(1) SFT 3T

(2) € e w5

(3) o gmed WA

(4) faumi=h geran geaewEd) Qi faer o T

A given January has precisely 4 Mondays and 4 Fridays. Which of the following
statements i/are definitely true with respect to this ? ‘

Statements :

a. The first day of this month is definitely a Wednesday.

b. There are five Wednesdays and four Saturdays in this month.
¢.  The last Thursday of this month falls on date 31.

d. This month starts on a Tuesday.

Answer Options :

(1) Onlyaandc

(2) All except d

(3) All except a

{4) No sufficient data is provided for the verification of statements
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TGS AT SRS ST S ERIE ged A § @S 5

giedan Juareht vreaT ItEd. 2020 T FERUMY 12 SUARTET AU AR 8 AR M.
vt oafer Adie. Iu=m wigw agde st oo STTen S9e gee fhdis a9
AR, o1 Tl STTayaeh Sidel aR Fed T fapaasfiel 9a areant & ey MY 3R
FelEY & TAE aEE FW O g9 qidifag vt der aEer e swet
YT 2. A1 HEEAT 30,000 HHH & @A Figd v N et e wferepedt
TR T 9 fraa yeEfREa e Lo yiavTe o STiEuvekeA (simulator) HEdH
T R, B Al € HEwar Widt o R eage i nfgemien w s e
FATHAT H STt wgaa a4l

Fiet mfedrea mum wedr I AgAH Fas.

(1) 3 Adtfeg weAtwRaardt siifem Sfeer=h WMo T FRo d gEma Fgd Tl
wfrure araa 1YYk (simulator) 39disY R4,

(2) A T e Yfagdt m@R e few sefRer ogwa duren vl awea
(3) ofrar wfowRl arae sifveaus dF Afg=amdan M Fmadta S giEor Sor=ET

(4) ar Mififeiq staer=n v TR are AU Hedie T8 S e IR

Cataract blindness is the disease which begins with clouding of the eyes and can
lead to loss of vision, will probably afflict 12 million more people by 2020, as a result
of shortage of skilled doctors limits access to care in developing nations. In the
clinical way of training, it takes years to create a good surgeon. It is impossible to
train all the doctors needed and then put them in developing countries at this rate.

A non-profit organization ‘HelpMeSee’, committed to fighting cataract blindness,
wants to train 30,000 people for a procedure to remove the impairment using a
virtual reality simulator that replicates the human eye and feel the live surgery. The

simulator is a major development because it can make a great surgeon in less than
three months.

Select the most appropriate statement which can be inferred from the above

information.

(1) Now there is no need of trained surgeons for doing cataract surgery as
virtual reality simulators for removing impairment are available.

(2) Now it is possible to train any person to remove cataract impairment using a
virtual-reality simulator that replicates the human eye and feel the live
SUTEery.

(3) Now virtual reality simulator can make a person a great surgeon in less than
three months for removing cataract impairment.

(4) Now problem of cataract blindness can be eradicated using virtually reality
simulators.
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91. ff v 2 i di HET A TS g enfor < wRaET 3 foRft warg sher enfer e A
IdTRe gt anfer 4 forrdt wamw e, T A TS ST SIoeN desel AT 9 feRdt wamw e
Iad A A IS g T 12 fRrft aria e, W A = TuRg fhdt s
e ?

(1) 28000 9. (2) 25000 3.

(3) 20000 1. (4) 2000 .

Mr: Suresh was facing south turned to his left and travelled 3 km from his house. He
then turned to his right and travelled 4 km and again he turned to his left and
travelled 9 km. Finally he turned to his right and covered 12 km. How far is he from
his house ?

(1) 28000 m (2) 25000 m

(3) 20000 m (4) 2000 m

92, M o N=1 a1l M &1 N7 gorm a1mg; M ¢ N1 31 M & N sttt a1md; M 1¢ N=1 a1 M

2 N3 ol a1gd, @ CEl E<ft 9ra amg @ a9 faum faer.

(1) EcBr Fr C

(2) CoBr FrK E

3) CoBoFoE

(40 B Fr EocC

If M o N means M is the son of N; M ¢ N means M is the sister of N; M ¢ N means
M is the father of N, then select the statement that means C is the grand-daughter
of E.

(1) EcBrE Fr C

(2) CoBK FKE

(3 CoBoFoE

4) B Fr EcC

w1 Bre T 21 69 weWTh Wl €. Yo GHNT SO gEA SO UH HIEAT BieA

93.

A 97 @9 Fasd. & 9R 9= IoaT YedE 9T e 9 Yadt g e Qs U
AT FTel. O o Tqdd upvl fohdt | wed i 2

(1) 217 (2) 144 (3) 219 (4) 90

21 teams participated in a cricket tournament. Every team played one match against
another team. The four teams selected from these matches played one match against

each other. Finally two teams were selected which played one match. How many
matches were played in the tournament ?

(1) 217 (2) 144 (3) 219 4y 90
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94, AT Nae=ar A wWwidial de@= Yo% feg=n s qaf afgew @9 wEnadE,
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1) B-1;a 2y A-2;c 3 A-1;d 40 B-2;b

Every third tile is designed by combining elements of first two tiles across the rows
and down the columns with the exception that like elements getting superimposed
are cancelled out. Select the location of the illogical tile with respect to the pattern
and choose the appropriate tile for replacing it from the given options.

1 2 3
0® | O ®
Al OO OO
® o00Ce® O
L_Jeolfe] ®
@ O O 00
SR ®0
O O o0
c @O O @
L Jol JIEeX )
O e} (OR
L ] ® @)
Ce O eCe e
a b c d
Answer Options :
(1) B-1;a (2) A-2;¢ 3) A-1:d 4 B-2;b
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95.  UHl GY Fedldic Halih! 8 Ue $dl @ M, 7 4G UTE @i 1, 6 Geed 9% @i
TR, 5 S1.9Ug 9 UF WG TEM, 2 0 $Hedl 9 9% @d e, 3 99 998 § % @[ A8,
2 5 fordll s @A TR, A1 T §i79 HEETE U G gefeu vate Fs

1y 21
(2) 13
3) 17

(4) ¥ UTH HIUE BB WA # AiEd Teae el g M e .

Among all members of a joint family, 8 members don’t eat banana, 7 don’t eat
papaya, 6 don’t eat guava, 5 don't eat papaya and guava, 2 don’t eat banana and
guava, 3 don’t eat papaya and banana, 2 don’t eat all 3 fruits. Select the option that
indicates the total number of these family members.

(1) 21
(2) 13
(3) 17

(4) It is not possible to find the number as information about fruits which members
eats is not given.

96. Tfeciell el e T “I stood” & fireaehEn dhad Fagvamd oo fewm amww .
FramTaT FIETE 9aTE A8 T e fediean Aisahi=al AR qaR e FEw .
FEEW : koloa = I lie; kolue = he lay; 3T satoe = he stands

(1) satoa
(2) kolua
(3) satoe
(4) satua

Study the examples and use following rules for selecting the code for the expression
“T stood” : there are no exceptions to the rule and only those rules apply that may be
derived from the provided expressions.

Examples : koloa = I lie; kolue = he lay; and satoe = he stands

(1) satoa

(2) kolua

(3) satoe

(4) satua

P SIS ST / SPACE FOR ROUGH WORK



A 49 N15

97. AT Yeaw g AR Ha e @i o118 WiEa JEn-dHen WR il IR
AR, =+ w safea T el ormeht ot autad fEfiE S oM. d Wisan | e
sltes@ar I W= T e g @ gée Frem a9 emra. A HeHie
STeAT SINETl {9 AR, qUT Taiq AP i g9 9ied . B @ C 9 gfgea g
Tehl AT U PR qU1 TR 3l JUuErl T AT, Dell Jgde B il (SnE) 9
., Feit 98 G=1 9@ {9 ErR 9v G Uk Sree HYiel Aea o B fear C=a
IR TR, He Jgfie A IR Y daee g 9 @R 90 § TR AR {9 e AT
et adiq wata et /= edtegA-IediweTda qata v Al /<= fas

A DG

7. GD

+. E-G

S H-G

3. GH

Qi 39y

(1) SR ATS 2) & Gl9 w4
(3) wad A, TIS (4) =la w4

St. Nicolas is trying to arrange his eight reindeers in four rows of two to carry gifts
for children. Though he named them as persons, he also labelled them with letters.
He knows his reindeers well and considering their habits he needs to observe the
following rules. A must always be on the left-hand side but not in the rear row.
B and C must be in either of the first two rows, but not necessarily in the same row.
D must always be immediately behind E. F must always be ahead of G but both
should be never on the same side and never next to B or C. H must be as far away
from A as possible and not on the same side. Select the possible rear pair/pairs from
the given list from left to right.

D-G
G-D
c. E-G
d H-G
e. GH
Answer Options :
(1) Onlyaande (2) All exceptc
(3) Onlya bande (4) All of the above
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98, @elid R Brpivesd d sqacyr =@ AR 7 Ao, a1 e AYNET Faid @re<a
TR STfehgT =Y & HIVR ?

1 C (2) F

3) d 4) P

Identify the management system from the following letter triangle. On the basis of
that management system, which is the fourth letter from the left side on the bottom
line ?

- - !
Answer Options :
(1) C 2 F

3) J 4 P

Foeg] HTHNS! AR / SPACE FOR ROUGH WORK




A 51 N15

99. 3y fisrd fimen,
we R : o S8 wloren Ad. Fd B 91 3Ed. Fr il A s,
9. wd Y e age.
%. T BIHC FHS 0.

Tt 3w ;
(1) TS (2) wEFa A
{(3) BFdEdH (4) SFd 9

Select the valid conclusions.

True statements: All lotuses are koalas. All koalas are boats. Some walls are
boats.
Conclusions: a. Some boats are lotuses.
b. Some walls are koalas.

c¢. All koalas are lotuses.

Answer Options :
(1) Onlyaandec (2) Onlya

(3) Onlybandc (4) Onlyb

100 WX, Yol 22 9@ w4 1, 2, 3, 4, 5, 6 3ufvr 7 a1 frudia smdfler, X+ Y+ Z =12

(L 36 (2 37
(3) 38 4) 31

If variables X, Y and Z can only take values 1, 2, 3, 4, 5, 6 and 7, then select the

number of solutions of the equation X + Y + Z = 12.
(1) 36 (2) 37

3) 38 4) 31
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(8) wgfersel fafga Foen fofire Smfe +=9 #m (1 36) F0a. wyfedafifen TulEa o1 @
FPRIEG FH FIH Heamd T HA! FOITAT LA Fd IR, 3@ TS A T WA ITGIRE T
T Fen Cwhgmed gon=n ATEeRE IRy FoaEeTe rfufiam-82’ arder wgdiqEn wRa
T A5 9 S} sHd} FATST O Furea wOEEA] A7/ T9d o TR WA Sgre ey
a7 .

(9) X TUBFEE S fifge Foeh o duearar IigERen @ TeAyfRrE T ThEsaTETt
UFA A WA SR, AT THsTRHTa AvanyEi SHEaR ATIedn Iwatier Wnt-1
BHAGHTRE T et wa Ul STHvEE AR,

. . 201.

¥. . 201.

YT Ul
el @ T FgETE HIv g TEe et ?
(1) @ FEEg swad (2) Zvatag faEmmR
(8) N TwAER T (4) TP TES
W W A I (3) T TR TR o MR, S A1 W I O(3) widd. I
WEAETET 99 . 201 FE IR-FEE (@)} ade ien owifa e qaf sevas
3.
@ @ @ ©®
FM T Teqa TegfRREE Yo Yl qHE1 IR-HEE B gREen w@ardon qufie
FRUGRRElE o7 1 TAHEITRAAI GEia e [T DRifRd FE SradrEn. gt
T TTEd] VITEY "o g, e v wnde 9 areE 4.
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